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PREC 11 3.1 (cont.) Investigating Quadratic Functions in Vertex Form
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To find the equation of a quadratic functioéiven the X and a point, substitute the values
into the formula: yv=a (x - p)2 +q gf\ur,dwn
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Example 1: Find an equation of a quadratic function with vertex (1, -2) which passes through

G, -4). 2 h—. z-
3"“(1")~:Ltp A

&

-4:= a(3-1)-2 -

4 . Y= -05(x-) -
—4= a (2)- 2 r
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Example 2: Find an equation of a quadratic function with vertex (4, -1) that d.pcns dowD and is
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You can determine the number of x-intercepts for a quadratic function if you know the
location of the vertex and the direction of opening.

Example 3: Determine the number of x-intercepts for each quadratic function without

graphing:
N 2 1 2
a. f(x)=0.5x"-7 b, f(x)==2(x+1) c. f(x)=—=(x=5)-11
* (/crfex(o,~7)- ] verisx(-H.2) 6Q ! yars (6,-1D)
opens °f  betows x-axis msn 0N LS "f p belo L-0S
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Q x-intercepts o\ x-rdeept +. No L-inrercept
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Example 4: A cable that supports a suspension bridge is parabolic. The horizontal distance
between the ends of the cable is 140 m. The midpoint of the cable is 14 m below
\ each end of the cable. Determine an equation to model the cable.
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Y= a(x-py+9

Y= ax*
— (°'°1 14= & (70)
4 = @ 44900
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>~ = Ls_ zo in lowest terms.
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